
 

 

問 次の式を〔 〕内の文字について解け。 

 

（１） 〕　〔acba =−2            （２） 〕　〔xzx =2  

 

 

 

            

 

（３） 〕　〔axabc =             （４） 〕　〔x
x
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3
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（５） 〕　〔xyx =
3

2
             （６） 〕　〔xzyx 32 =−  

 

 

 

 

            

 

（７） 〕　〔yzyx =+24            （８） 〕　〔xz
yx
=
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（９） 〕　〔xyxz )(2 +=            （10） 〕　〔a
bah
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【解答】 
 

問 （１）𝑎 = 2𝑏 + 𝑐  （２）𝑥 =
𝑧

2
  （３）𝑎 =

𝑥

𝑏𝑐
  

 

（４）𝑥 = 3𝑦   （５）𝑥 =
3

2
𝑦  （６）𝑥 =

3𝑧+𝑦

2
 

 

（７）𝑦 =
𝑧−4𝑥

2
  （８）𝑥 =

2𝑧+𝑦

3
 （９）

𝑧

2
− 𝑦 または 

𝑧−2𝑦

2
 

 

（10）𝑎 =
2𝑠

ℎ
− 𝑏 または 𝑎 =

2𝑠−𝑏ℎ

ℎ
 

 


